ACCT 1046 Introductory Accounting
Assignment - Semester 2, 2012
Part A – The Company
Question 1   (0.5 mark)
Describe the principal activities of Sirtex Medical Ltd (hereafter Sirtex).   
The principle activities of Sirtex and their controlled entities (‘Group’) is to form a biotechnology and medical device group whose primary objective is to manufacture and to distribute effective liver cancer treatments utilising small particle technology to approved markets in Asia-Pacific, Europe and the United States of America (Sirtex 2011 Annual Report, Directors’ Report, p. 15).

Question 2   (1 mark)
Name the members of Sirtex’s board of directors and identify those who would be considered ‘independent’.

The members of Sirtex’s board of directors include Richard Hill, John Eady, Grant Boyce and Gilman Wong. The non-executive directors of Sirtex are considered to be independent, these include Richard Hill (non-executive chairman) , John Eady (non-executive deputy chairman and Grant Boyce (non-executive director) (Sirtex 2011 Annual Report, Corporate Governance Statement, p. 11).
Question 3   (2 marks)
Refer to Note 1: Significant Accounting Policies to identify Sirtex’s policy with respect to research and development costs. 
How does Sirtex account for expenditure during the research phase of a project? 
Expenditure during the research phase of a project is recognised as an expense when incurred (Sirtex Medical Limited 2011, Notes to the Financial Statements, p. 31). 
List all the criteria that development costs must satisfy before Sirtex capitalises (recognises as an asset) these costs. 
‘Development cost must meet the following before Sirtex capitalises these cost:

· Technical feasibility of completing the intangible asset so that it will be available for use or for sale

· The intention to complete the intangible asset and use or sell it

· The ability to use or sell the intangible asset

· The intangible asset will generate future economic benefits

· Adequate technical, financial, and other resources to complete the development and to use or sell the intangible asset are available

· The expenditure attributable to the intangible asset during its development can be reliably measured’ (Sirtex Medical Limited 2011, Notes to the Financial Statements, p. 31-32).
What was the impact of this accounting policy on Sirtex’s 2011 statement of financial position? 
The impact of the accounting policy was to capitalise development cost of $6,631,261 in Sirtex 2011 statement of financial position as an intangible asset (Sirtex Medical Limited 2011, Notes to the Financial Statements, p. 31).
What was the impact on Sirtex’s 2011 reported profit before tax?   
The impact on Sirtex’s 2011 reported profit before tax was that it has improved for the year by $6,631,261 (Sirtex Medical Limited 2011, Notes to the Financial Statements, p. 31).
Question 4   (1 mark)
Refer to Note 1: Significant Accounting Policies.
Which method of depreciation does Sirtex use to depreciate plant and equipment? 
Plant and equipment such as leasehold assets, are depreciated or amortised on a straight line basis, so as to write off the net cost of each asset over its expected useful life (Sirtex Medical Limited 2011, Notes to the Financial Statements, p. 32).
What is the underlying assumption of this method in relation to the usefulness of plant and equipment?   
The underlying assumption is that assets are depreciated or amortised from the date of acquisition, or in respect of internally constructed assets, from the time an asset is completed and held ready for use. They are reviewed annually for appropriateness, when changes are made, adjustments are reflected prospectively in current and future financial periods only (Sirtex Medical Limited 2011, Notes to the Financial Statements, p. 32).
Question 5   (1 mark)
Sirtex has recognised both short-term and long-term provisions on its 2011 statement of financial position. 
What do the long-term provisions relate to? 
They are related to ‘accruals for long service leave’ (Sirtex Medical Limited 2011, Notes to the Financial Statements, p. 45).
What were the amounts of additional provisions AND amounts used with respect to this item in 2011?   
The amount of addition provision was $105 000 and the amount used with respect to the accurals for long service leave was presented as a dash symbol (-) on Sirtex’s 2011 annual report (Sirtex Medical Limited 2011, Notes to the Financial Statements, p. 45).
Question 6   (1.5 marks)
Describe the purpose of the external auditor’s report (that is, the Independent Auditor’s Report To the Members of Sirtex Medical Limited).

The purpose of external auditor’s report is to obtain reasonable assurance whether the financial report is free from material misstatements and that the financial report is true and correct (Sirtex Medical Limited 2011, Independent Auditor’s Report, p. 24). ‘The auditor is required to conduct their audit in accordance with the Australian Auditing Standards which requires them to comply with relevant ethical requirements relating to audit engagements’ (Sirtex Medical Limited 2011, Independent Auditor’s Report, p. 24).
Name the audit firm engaged by Sirtex in 2011. 
The name of the audit firm for Sirtex in 2012 is Grant Thornton Audit Pty Ltd (Sirtex Medical Limited 2011, Notes to the Financial Statements, p. 55).
Did Sirtex receive a qualified or an unqualified audit report in 2011?   
Yes, they received a qualified audit report in 2011. Grant Thornton stated that Sirtex is in accorfance with the Corporations Act as they have given a true and fair view of the consolidated entity’s position during the reporting period and that Sirtex complied with the Australian Accounting Standards and the Corporations Regulations 2001 (Sirtex Medical Limited 2011, Independent Auditor’s Report, p. 25).
Question 7   (1 mark)
What was the amount of cash receipts from customers in 2011?

The amount of cash receipts from customers in 2011 was $69,043,000 (Sirtex Medical Limited 2011, Statement of Cash Flows, p. 30).
Why does this amount differ from the 2011 sales revenue figure?

This difference is due to the reporting of revenue net of GST while the recording of cash flow includes gross GST amounts
Part B – Analysis of Financial Information
Question 1   (3 marks)
i. Current ratio
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2010
    Current assets


  Current liabilities
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58,608



14,654

= 3.99945



=4.0 times

2011
    Current assets

 Current Liabilities

  59,572              

  13,667 
= 4.35882

=4.4 times

ii. Acid test ratio

2010
Current assets – Inventory

       Current liabilities



58,608 – 957


     14,654



= 3.934148



= 3.9 times

2011
Current assets – Inventory
      
       Current liabilities

59,572 – 1025            
 
       13,667
= 4.283822
= 4.3 times
iii. Average inventory turnover (days)*

2010
Average inventory            

   
    Cost of sales

(957+1,399)/2


     10,826


= 39.7


= 40 days

2011
 Average inventory      x365      
     Cost of sales


 (1,025+957)/2         x365
         13,543

= 26.7


= 27 days

iv. Return on assets**

2010
             EBIT

Average total assets



19,103
 (66,660+49,923)/2

= 32.77150


= 32.8%

2011
             EBIT  
                x100
Average total assets

         14,350 
                x100
 (76,641+66,660)/2

= 20.02777

= 20% 
v. Gross profit margin

2010
   Gross profit


Sales Revenue

     53,507        x100
    64,333

=83.17193
= 83.2%

2011
   Gross profit         x100



 Sales Revenue


    56,743        x100


    70,286


=80.7155


= 80.7%

vi. Net profit margin

2010
        EBIT               x100


Sales Revenue


      19,103               

     64,333
= 29.69394

= 29.7%

2011
        EBIT               x100
 Sales Revenue
      14, 350           x100
      70,286

= 20.41658

= 20.4%

* Inventory at the end of 2009 was $1,399,000.

** Total assets at the end of 2009 were $49,923,000.

Question 2   (6 marks)
You have been provided with the following information about another company, Company X, in the same industry as Sirtex:

	COMPANY X

	Ratio
	2010
	2011

	Current ratio
	4.1 
	4.3

	Acid test ratio
	3.3
	2.6

	Average inventory turnover (days)
	36
	43

	Return on assets
	33.0%
	20.1%

	Gross profit margin
	83.3%
	78.1%

	Net profit margin
	29.5%
	28.8%


	Sirtex

	Ratio
	2010
	2011

	Current ratio
	4.0
	4.4

	Acid test ratio
	3.9
	4.3

	Average inventory turnover (days)
	40
	27

	Return on assets
	32.8%
	20%

	Gross profit margin
	83.2%
	80.7%

	Net profit margin (Profit margin)
	29.7%
	20.4%


Using the information above and the calculations in Part B Question 1, you are required to analyse the liquidity and profitability of Sirtex and Company X by providing:
· A description of the movement in each of the ratios for Sirtex and an explanation of what this movement tells you about Sirtex;
Profitability analysis
· Return on assets is classified as a profitability ratio (Birt et al. 2010, p. 317). The ROA for Sirtex deteriorated from 32.8% in 2010 to 20% in 2011, therefore every $1 invested in assets is now generating a return of $0.20 instead of 32.8 cents in 2010. Therefore the profitability has decreased in 2011 from 2010. The decrease in ROA is attributable to the decrease in net profit margin. Decreases in ROA would also cause return on equity to decrease.
· Gross profit margin reflects the percentage of sales that remains after the cost of sales is deducted. Sirtex gross profit margin has deteriorated slightly from 83.2% in 2010 to 80.7% in 2011 as cost of sales increased. Birt et al.  (2010, p. 321) states that a decrease in gross profit margin suggests that the cost of sales rose.
· Net profit margin has deteriorated significantly, from 29.7% in 2010 to 20.4% in 2011. The decline in the net profit margin is the result of the entity’s gross profit margin declining and/or their expenses relative to sales are increasing. Birt et al. (2010, p. 319) states that any changes  in the net profit margin over time must be attributable to changes in the gross profit margin and/or changes in the expenses as a percentage of sales. Therefore, the gross profit margin decreasing (from 83.2% in 2010 to 80.7% in 2011) may be a result of the expense ratio increasing, indicating Sirtex is paying more for their inventory relative to what is being sold. This shows that the deteriorated profitability is associated with the lower gross profit margin in 2011. 

Liquidity Analysis

· Current ratio: In 2010 Sirtex current ratio was 4.0 times. This means they had $4.0 current assets for every $1 current liabilities. In 2011 Sirtex current ratio increased to 4.4 times, meaning they had $4.4 of current assets for every $1 of current liabilities.  Based on this information, it seems that Sirtex did not have a liquidity problem, since its current assets can be used to fully repay its current liabilities. However, Birt et al. (2010, p. 327) states that the arbitrary rule of thumb is that current ratio should be around $1.50 of current assets for every $1 of current liabilities. Therefore, a current ratio of 4.0 times and 4.4 times is considered very high. Although it is undesirable to have a ratio that is too low, it is also undesirable to have a current ratio that is too high. This can be caused by excess investments in unprofitable assets, such as cash, receivables or inventory (Birt et al. 2010, p. 326). If this is the case, Sirtex will need to manage their current assets in a better way, as the assets can be invested somewhere else that is more profitable. 
· Acid test ratio: the acid test ratio for Sirtex has increased from 3.9 times of current assets (excluding inventory) per each $1 of current liabilities in 2010 to 4.3 times of current assets(excluding inventory) per $1 of current liabilities in 2011. The arbitrary benchmark ratio for the quick asset ratio is around $0.80 of current assets (excluding inventory) for every $1 of current liabilities (Birt et al. 2010, p. 327). Therefore, Sirtext’s high ratio of 3.9 times and 4.3 times is not essentially a positive thing as it suggests they may be retaining excess current assets in the form of cash and receivables, which could be invested elsewhere that’s more profitable. As Sirtex’s current ratio is quite high, they are not experiencing difficulty with paying their current liabilities, hence, they are not faced with liquidity issues. 
Average inventory turnover: Sirtex average inventory was 40 days in 2010 and 27 days in 2011. This indicates that it took on average 40 days for the company to sell their inventory in 2010 and an average of 27 days to sell their inventory in 2011. Therefore in 2011 Sirtex was able to sell their inventory within a shorter period of time than the previous year. Whether this figure is appropriate will depend of Sirtex’s industry type and compare it with other company’s within the same industry. Days inventory is commonly used to assess an entity’s asset efficiency as it measures the average time period that it takes for an entity to sell their inventories. Since Sirtex has decreased their average inventory turnover to an average of 13 days between 2010 and 2011, it means that they have decreased the time it takes them to convert inventory into cash, which is advantageous for entities (Birt et al. (2010, p. 323). 
· A description of the movement in each of the ratios for Company X and an explanation of what this movement tells you about Company X.
Profitability analysis

· Return on assets: ROA has deteriorated considerably from 33% in 2010 to 20.1% in 2011. This means that in 2011 every $1 invested in assets is generating a return of 20.1 cents of EBIT instead of 32.8 cents EBIT in the previous year. Higher ROA percentage is desirable by companies as it implies they are earning more money with fewer investments. Therefore with the decrease in Company X’s ROA, it means they are managing their assets in a less efficient way than the previous financial year in terms of converting revenue into profit and generating income from its assets investments. 
· Gross profit margin: It reflects the gross profit in cents generated per dollar of sales and reflects the entities pricing strategy (Birt et al. 2010 p. 319) It reveals the amount of money left over from revenue after deducting the cost of goods sold. In 2011 Company X’s gross profit was 78.1% and in 2010 it was 83.3%, therefore it has decreased 5.2% over the reporting period. Birt et al.  (2010, p. 321) suggest that a decrease in gross profit margin indicates that the cost of sales rose. 
· Net profit margin: It has decreased from 29.5% in 2010 to 28.8$ in 2011. This means that Company X has a net income of $0.28 for each $1 of sales made in 2011. Birt et al. (2010, p. 319) states that any change in the profit margin over time must be attributable to changes in the gross profit margin and/or changes in the expenses as a percentage of  sales. The decrease between 2010 and 2011 is the result of Company X’s gross profit margin deteriorating and/or expenses relative to sales increasing. Therefore decrease in profitability is related to the lower gross profit margin of Company X between the 2010 and 2011.
Liquidity Analysis

· Current ratio: in 2010 Company X current ratio was 4.1 times. This mean they had $4.1 current asset for every $1 current liabilities. In 2011 Company X increased their current ratio to 4.3 times, meaning they had $4.3 of current asset per every $1 of current liabilities. Based on this information it seems that Company X has been to pay their current liabilities with their current assets, therefore they did not experience any liquidity problems both reporting period. Although it is good to have a higher current ratio than a lower current ratio, if it is too high it could also be unfavourable to Company X. The arbitrary rule of thumb is that current ratio should be around $1.50 of current assets for every $1 of current liabilities (Birt et al. 2010, p. 327).    Therefor the high current ratio of 4.1 times and 4.3 times could signify that company X is not managing their current assets in a method that is most profitable and efficient (Birt et al. 2010 p. 326).
· Acid test ratio: Acid test ratio for Company X has decreased from $3.30 of current assets (excluding inventory) for each $1 of current liabilities in 2010 to $2.60 of current assets (excluding inventory) per $1 of current liabilities in 2011. The arbitrary benchmark ratio for the quick asset ratio is around $0.80 of current assets (excluding inventory) for every $1 of current liabilities, as Company X ratio is quite high, it could indicate that they are holding onto excess current assets that could be invested somewhere else profitable (Birt et al. 2010, p. 327). However we see that there is a decrease in the acid test ratio between 2010 and 2011. This decrease could have resulted from Company X investing their current assets (cash and receivables) in a more profitable manner. Although Company X’s ratio has decreased, they are still able to pay their current liabilities; therefore they are not experiencing any liquidity issues.
Average inventory turnover

Company X’s average inventory turnover increased from an average of 36 days in 2010 to an average of 43 days in 2011. This indicates that it took an average of 36 days for Company X to sell their inventory in 2010 and an average of 43 days to sell their inventory in 2011. Hence the time it takes to sell their inventory has increased. As Company X has high days inventory, it will take them longer to sell the inventory and covert that into cash. It is mentioned by Birth et al. (2010, p325) that it is vital for a business that sells inventory such as food items to have a fast inventory turnover. 
Question 3   (1 mark)

Assume you are considering becoming a creditor for either Sirtex or Company X (from Part B Question 2 above). That is, you will only be providing credit to only one of them. Explain which company you would prefer to provide goods to on credit and why you have chosen this company. 
As a creditor I would provide credit to Sirtex for two reasons. First their inventory turnover rate for 2011 was substantially lower than that of company X. Essentially this means that I can expect the return of the owed money to me faster after they have sold product. Also Sirtex has decreased their inventory turnover ratio with previous year whereas Company X has increased theirs. This means that in 2011, Sirtex sold their inventory on an average of 27 days.
Secondly, the acid test ratio shows that the level of assets (cash) compared to liabilities is higher in Sirtex than of Company X providing a greater fail safe against losing my investment should the company face dire financial difficulties. However as already stated this ratio may also represent a risk to long term dealings with the company as they may not be investing most wisely for future profits. 
Question 4   (2 marks)
Assume you are considering purchasing shares in either Sirtex or Company X (from Part B Question 2 above). That is, you will be investing in only one of them. Explain which company you would prefer to invest in and why you have chosen this company. 
I would invest in Company X based on the information provided by the acid test ratios of the two companies. The acid test ratio suggests that Sirtex may not be properly utilizing their asset (cash) resources, as their ratio of 3.9 and 4.3 times is substantially higher than the arbitrary benchmark of $0.80 of current assets per every dollar of current liabilities. This means Sirtex is not investing their current assets in the most profitable manner, whereas Company X is shown to be investing current assets in the most efficient and profitable manner as they have a lower  acid test ratio in both reporting periods. Since Sirtex may be holding on the excess current assets, this has a potential to cause detrimental long term effects. Therefore, it will be wiser to purchase shares with Company X.

Another reason why I would purchase shares with Company X is because it is revealed that they have a higher net profit margin than Sirtex. It’s shown that Sirtex has decreased their net profit margin substantially (9.3%) between 2010 and 2011 whereas Company X has only decreased their profit margin slightly (0.7%) between 2010 and 2011. This reveals that Company X is generating higher profit returns than Sirtex, indicating Company X has better control and management over their cost and assets, and it is more profitable than Sirtex. In the long run it may therefore be more beneficial to invest in Company X 
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